
Communications & Sundries

Note from distributor: Request for new lodgings!

The noise outside my attic has been bordering on distracting for some weeks and I have just discovered the 
reason.  Apparently some kind of bombardment of the city is in progress.  If this ridiculous situation 
continues I shall be forced to move elsewhere in order to get any work done.

Would all of you please send accommodation suggestions to the usual address?  I require a reasonably-
priced establishment that will not make silly objections to chemicals or moderate numbers of dogs.  I will 
consider any area, even out of the country, but if you wish me to continue producing this journal there will 
have to be a postal station nearby.

Aguel

A: Thoughturge
D: Response to Pageturner's 
scurrilous retort to my response to 
his response to my criticisms of his 
Observations on the Strata in 
Stinesmackt Quarry

That title alone might have warned 
you that this is an exchange better 
suited to the pages of NLW and 
not a respectable journal.  Stop it.

Tulpie

A: Dendrite
D: Cadabra Alpha 0.2 (Towards a 
Universal Syntax for Magical 
Processes)

That heap of ash was my second-
best potting shed.

Erck

A: WearingSocks
D: You Said It Couldn't be Done (A 
Proof of Lachance's Last Theorem)

Brilliant!

Bitterative

A: Nominal
D: Observations upon Toxicity 
Levels in the Efts of Native and 
Introduced Newt Species

Dare you to swallow one.

A: Pageturner
D: Response to Pageturner's 
scurrilous retort to my response to 
his response to my criticisms of his 
Observations on the Strata in 
Stinesmackt Quarry

Not going to let him get away with 
that, are you?

WearingSocks

A: Dendrite
D: Cadabra Alpha 0.2 (Towards a 
Universal Syntax for Magical 
Processes)

Third example caused my parents-
in-law to leave, declaring intention 
never to return.

Owe you a big drink.

Nominal

A: All
D: Cadabra Alpha 0.2 (Towards a 
Universal Syntax for Magical 
Processes)

Catastrophic misprint! Apologies 
to Aguel if my bad handwriting 
was at fault.

Third example, fifth line, third 
symbol should be + (sum) not × 
(product).

On no account attempt to work the 
example as printed.

The next version will have symbols 
more easily distinguishable.

[Note from distributor: Dendrite's 
writing was clear after all.  Error all 

mine.  Profuse sorries to all sheds 
and mothers-in-law involved.]

A: Nominal
D: Observations upon Toxicity 
Levels in the Efts of Native and 
Introduced Newt Species

I've long suspected the colony of 
cristatus near my home is atypical. 
Contact me through Aguel if you 
wish to visit them.

A: Along the Sand
D: Further Notes on Coastal 
Erosion

You really must start taking NLW, 
you know.  Titratiàn in that 
publication is taking a different 
line to the same question.

Dendrite

A: WearingSocks
D: You Said It Couldn't be Done (A 
Proof of Lachance's Last Theorem)

You've cracked it, old girl.  This'll 
shut them up at Oberfussack.

A: Along the Sand

Beach party at my place, then?

Sinistral


